F2X FER XRI5EER 845
O : RE#FHTRHEES Y XREFRE
FEIER BEIER O EML/TRMEE x: EMs4 O RHES
JIE4SL | No. R L8R JEAE [ No. = F FiE ECER
1 9| FHKH 18:40 1 8|MAX HREQ ZRE= @ 9:02
2 1[3R 18:42 2| 26| K=K i (3) ZRE= 9:03
3 8| ZRE= 18:42 3| 3EXR EEQ BE 9:10
4 26| ZIRE= 18:44 4] 9|KBEH MmO FHKH 9:13
5 3|ERE 18:51 4] 45|AH FHt3) g — 9:13|*
6 18| AEEFER 18:54 6] 1198 FFQ IR 9:16
1 ERS 18:57 1| 5|KE BEXOQ) =& 9:18
8 11|10E 19:08 7] 4|18 %5 (2) JAV: VN 9:18]*
9 4]\ 19:16 9| 50[t FE(2) Bl 9:21
10 | 50|E LY 19:16 10| 18| &L =0 REEFER 9:22
11 17|+B8 19:17 10| 7|# A (3) A 9:22|*
12 | 10| mB& 19:20 10| 27|#gf@ @\ ) ER 9:22|*
13 | 45| E— 19:20 13 11)dts EHE Q) |0E 9:25
14 | 35|EE=F0 19:21 13| 17|HAMSEQ) an=hiil 9:25|%
15 UE-S 19:23 15| 31[/pE HE Q) HIR 9:27
16 | 31|&RF 19:24 15| 15|#F BHEQ AER 9:27|*
17 | 47|8EARE 19:32 17] 6|HF KHREA) [iES 9:28
18 6|FEE 19:37 18| 35|fEHEXE(2) 8= 9:30
19 21 RER 19:38 19| 10|k H H@3) a1 5 9:37
20 | 14[{X% 19:39 20 A7\#HE EAND e 9:38
21 | 27{ER 19:40 20 2| k%t # (1) ZRER 9:38|*
22 | 25|ILEYm 19:42 22 49| KT WAt (2) fEH 9:40
23 | BIEREEHR 19:43 23| 25|M% WA (3) [[LEYmE 9:46
24 | 38[fEIUE 19:46 23 24|A%  REL Q) & 9:46|*
25 | 22|{ElLm 19:49 25 22|12KR BAQ) falLkE 9:47
26 | 33[RAFDAL 19:50 25| 16|#ME ‘A2 AREEE 9:47|%
27 | 12[{X&E 19:50 27| 33|%pis EEA(2) [ikld 9:48
28 | 20| 19:52 27| 32|iEE #£EFEQ G HT 9:48|*
29 | 23[#E% 20:01 271 29| FER RHEQ) g ] 9:48|*
30 [ 32[iEHT 20:03 30( 20|&E HKXQ AN 9:49
31 16| KEEE 20:10 31 141UK KE Q) KE 9:50
32 | 29[tHFEFE 20:11 32| 12[HeR 1A#EQ3) |[KIF 9:53
33 | 19[{=dt 20:12 32 23| KB EEEQ) REE 9:53|*
34 | 34[F&E 20:15 34 43|mEE EEth(2) RLEEFR 9:54
35 | 28|&H 20:17 34 36|7EE EEEE (2) =Xl 9:54|%
36 | 48|EF#E 20:18 34[ 56|F)Il (1) £S5 9:54 (%
37 | 49|iEH 20:19 37| 21|BES E=KQ RERH 9:55
38 | 36| 20:21 38| B3|/htk EKX(2) |HEFH 9:56
39 | M|&kEm 20:22 39| 28[iEER REBK(3) |RE 9:59
40 | 24[{7EM 20:24 40| 19|/KE? pNE) =it 10:03
41 V(AEFE 20:26 40 42|%FE —#Q) PN A 10:03|*
42 | 56[|FER 20:27 42 44|EHB EHOQ) ZiEE 10:04
43 | 13[{#0O 20:38 43| 48|%H = (3) =] 10:05
4 | 21| L=ZRFF 20:39 44| 38|#BFE Bl Q) LT 10:07
45 | 54[&F4 20:41 45 M1 |fEE ER Q) aE 10:11
46 | R2(XRBES 20:45 46| 30|AXH K—@Q) HH 10:12
47 | 53|#EFPHE 20:46 47( 34|FHLE HEEQR) Fl s a 10:15
48 | 46[=E¥% 20:46 47) 55|84T BEEHQ tE 10:15(*
49 | MEE 20:55 49| 9(ER Q) JIR 10:18
50 [ 15[{KE®E 20:55 50| 13|lhA RAQ) #0O 10:19
51 | 55(tE 20:56 51| 4|RE i (2) =54 10:31
52 | 39[JIIR 21:04 52| 46| HF FIEQ) B 10:33
53 | 30[&MH 21:19 52 52|JIAR K@) =R 10:33|*
54 | B2[=Rk 21:40 54| 40|l IEFHKQ) RS 10:34
55 | SRRk 21:44 55 37|#EKR EBEH(2) f&all 10:45
56 | 37[#&W 2201 56 51|B%F 0 () A o 11:04




